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PGDM-RM, 15-17
Supply Chain Management (RM-108)
Trimester-1, End Term Examination, September 2015

Time allowed: 2 hr 30 min - Max Marks: 50

Roll No:

Instruction: Students are required to write Roll No on every page of the question paper, writing
anything except the Roll No wiii be treated as Unfair Mieans. in case of rough work, please use

answer sheet.

Section A: Short answer questions (Five marks each. Attempt three; total marks 15)

Al. Supply chain decision phases are categorized as strategic, planning, and operational. What
decisions are taken in the strategic phase covering a few years into the future?

A2. What are the three truisms of forecasting? Describe very briefly.

A3. Higher implied uncertainty in demand requires the supply chain to be more responsive. List
four ways in which supply chain responsiveness can be increased.

A4. The EOQ inventory mode! assumes demand to be constant, continuous, and known. How
realistic are these assumptions? Do they imply that EOQ cannot be used in practice? Give
reasons.
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in the single period inventory mode! the retailer orders a quantity that maximizes its
expected profitability. What does this order quantity depend upon? How can this order
quantity be increased?

Section B: 10 marks each. Attempt any 2; total marks 20

B1. An item has annual demand of 10,000 units. Annual carrying cost is at the rate of 20%.
Ordering cost is Rs. 150 per order & purchase cost is Rs. 5.00 per unit.
a. Calculate the EOQ.

b. What is the annual cost of ordering?

c. What is the time between orders?
d. If the order quantity is increased by 30%, by how much does the total relevant cost
change?

B2. Assume that weekly demand of computers at Computer World (a retailer) is normally
distributed with a mean of 2500 and standard deviation of 500. The supplier takes two
weeks to fill an order placed by the Computer World manager. The store manager currently
orders 10,000 computers when the inventory on hand drops to 6000.

() What safety inventory does Computer World need to carry?

(i) Assume that the demand is independent from one week to the next. What is the CSL
resulting from the above reordering policy?




B3. The promise made by Wal-Mart to its customers is ‘all time low prices’. How does Wal-Mart
use the drivers of the supply chain in achieving its supply chain strategy? Elaborate.

Section C: Case study; 15 marks

The National Football League (NFL) is a very popular sporting event in the USA. Over thirty teams

participate in the event which draws hundreds of thousands of spectators and fans. In the year 2002,

Reebok won the rights to sell replica NFL jerseys to thousands of fans. Each jersey has a unique
name and a number (of the player). Peak sales last about 8 weeks and the suppliers of the jerseys
takes about 14 weeks to fulfil orders from Reebok. Thus, Reebok must commit to order quantities

well in advance.

Data:

a. The demand for a certain SKU is roughly normally distributed with mean of 26000 and

standard deviation of 8000 jerseys.
b. Reebok buys each unit for $8.40 and the selling price is $19.00.

1. How many jerseys should Reebok order? Assume that unsold jerseys have to be discarded after

the season ends.
2. If Reebok can sell a jersey that is unsold during the season for $4.50 (salvage value), how much

should Reebok order?
3. Suppose there is an additionai penaity of $50.G0 per jersey for stocking out, how mucn siiouid
Reebok order? Note that the salvage value of the previous question is applicable.
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Cumulative Areas under the Standard Normal Curve {continued)

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.5000 0.5040 (.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5318 0.5359 -
0.1 0.5398 0.5438 0.5478 0.5517 0.5557 0.55%6 0.5636 0.5675 0.5714 0.5753
0.2 0.5783 0.5832 0.5871 0.5910 0.5848 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 06178 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
0.4 0.6554 0.6591 0.6628 { 6654 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 0.6915 0.6950 0.6985 £.7018 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7518 0.7543
0.7 0.7580 0.7611 0.7642 07673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
08 0.7881 0.7910 0.7939 0.7%67 0.7995 0.8623 0.8051 0.8078 0.8106 0.8133
0.9 0.8158 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
11 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.3830
12 0.3249 0.8869 0.8888 0.8507 0.8925 0.8944 0.8962 0.8980 0.8397 0.9015
i3 0.5632 0.9049 0.90¢6 0.9082 0.9099 0.9115 09131 0.9147 0.9162 08177
14. f.9192 0.9207 0.9222 0.9236 0.9251 0.9265 0.827% 0.9292 0.9306 0.9319
15 0.93:2 0.9345 0.9357 0.8370 0.9382 0.9394 0.9406 0.9418 0.9429 0.5441
1.6 0.9452 0.9463 0.9474 0.9484 0.5495 0.9505 0.9515 0.9525 0.9535 0.9545
1.7 0.9554 0.9564 0.9573 0.9582 0.9591 0.9599 0.9608 0.9616 0.9625 0.9633
18 0.9641 0.9649 0.9656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
1.8 0.9713 0.9719 0.9726 0.9732 09738 0.9744 0.9750 0.9756 0.9761 0.9767
20 0.9772 0.9778 05783 0.9788" 0.9793 0.9798 0.9803 0.9808 0.9812 0.9817
2.1 0.9821 0.9826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
22 0.9861 0.9864 0.9868 0.9371 0.9875 0.9878 0.9881 0.9884 0.9887 0.3830
23 0.9893 0.98%6 0.9898 0.9901 0.9904 0.9906 0.9909 0.9%11 0.9913 0.9916
24 0.9918 0.9320 0.9922 0.9925 0.9927 0.9929 0.9931 0.9932 0.9934 0.9936
2 0.9938 0.9940 0.9941 0.9943 0.9945 0.9946 0.9948 0.9949 0.9551 0.9952
26 0.9953 0.9955 0.8956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
21 0.9965 0.9966 0.9967 0.9968 0.9969 0.9970 0.997 0.9972 0.9973 0.9974
28 0.9974 09975 0.9976 0.9977 0.9977 0.9978 0.9979 0.9979 0.9980 0.9981
29 0.9981 0.9982 0.9982 0.9983 0.9984 0.9984 0.9985 0.9985 0.9986 0.9986
30 0.99865 099869  0.99874 0.99878 099882 099886  0.99889  0.99893  0.99897 0.99900
34 0.99%03  0.99306  0.93910 0.99913 099916 099918 099921 099924  0.99926 0.99929
32 0599931 059934  0.99936 099938 099940 099942 099944 099946 099948 0.99950
33 0.99952 099953  0.99955 0.99957 0.99958 099360 099961 099962  0.99964 0.99965
34 0.99366  0.99968  0.99969 0.99970  0.99971 099972 = 099943 - 099974 099375 0.93976
35 099377 099978 099978 039979 099980 099281 0329981 099982  0.99983 0.99983
36 0.99984 = 099985 099985 099986 099386 099387 098987 099988  0.99988 0.99989
37 099989 099930  0.9999%0 0.999%0 099991 09999100 99997 =0 Q849 =g 90897 0.99992
38 059993 & (99993 - 099983 0.99994 0.95994 099994 059994 099995  0.99995 0.99995
33 0.99935 099995  0.9999% 099996 099996 099996  0999%  0.999%6  0.99397 0.99997




